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QUESTION 1

Which word means "to enlarge or expand"? 

A. Dilute 

B. Suppress 

C. Dilate 

D. Retain 

Correct Answer: C 

 

QUESTION 2

Select the best meaning of the underlined word in the sentence. 

Peristalsis is a function of the gastrointestinal system that is performed by nerve cells. 

A. of or relating to the cranial nerves 

B. of or relating to the pharynx, oesophagus, stomach, intestines, and anus 

C. of or relating to the autonomic nervous system 

D. of or relating to the colon only 

Correct Answer: B 

 

QUESTION 3

Which word means "maintenance of balance with body fluids"? 

A. Fatigue 

B. Paroxysmal 

C. Hydration 

D. Precipitous 

Correct Answer: C 

 

QUESTION 4

Which of these is considered an example of naturally acquired passive immunity? 

A. breastfeeding 
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B. inactivated (killed) vaccine injection 

C. attenuated (live) vaccine injection 

D. exposure to a disease and subsequent immunity 

Correct Answer: A 

 

QUESTION 5

A rupture in the cardiac sphincter would result in what occurring? 

A. Sugars not being digested. 

B. The small intestine losing surface area. 

C. The backflow of gastric juices into the esophagus. 

D. Proteins and lipids being expelled from the body. 

E. The release of fecal matter and other bodily fluids. 

Correct Answer: C 
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